
ای ذره بس فیزیک

٧ فصل

-۴

A(a, b) = δ(a, b)−
∑
p

X(a, p)Υ(p, b)

شده: تصحیح رابطه

S−١(p, q) = δ(p, q)−
∑
a

Υ(p, a)X(a, q)

A−١(a, b) = δ(a, b) +
∑
p,q

X(a, p)S(p, q)Υ(q, b)

(
AA−١

)
a,b

=
∑
k

A(a, k)A−١(k, b) =
∑
k

δ(a, k)δ(k, b)−
∑
k,p

δ(k, b)X(a, p)Υ(p, k)

+
∑
k

{[δ(a, k)−
∑
p′

X(a, p′)Υ(p′, k)]
∑
p,q

X(k, p)S(p, q)Υ(q, b)}

(
AA−١

)
a,b

= δ(a, b)−
∑
p

X(a, p)Υ(p, b) +
∑
k,p,q

δ(a, k)X(k, p)S(p, q)Υ(q, b)

−
∑
p′,p,q

{
∑
k

Υ(p′, k)X(k, p)}X(a, p′)S(p, q)Υ(q, b)

(
AA−١

)
a,b

= δ(a, b)−
∑
p

X(a, p)Υ(p, b) +
∑
p,q

X(a, p)S(p, q)Υ(q, b)

−
∑
p′,p,q

{δ(p′, p)− S−١(p′, p)}X(a, p′)S(p, q)Υ(q, b)

(
AA−١

)
a,b

= δ(a, b)−
∑
p

X(a, p)Υ(p, b) +
∑
p′,p,q

X(a, p′)S−١(p′, p)S(p, q)Υ(q, b)

(
AA−١

)
a,b

= δ(a, b)−
∑
p

X(a, p)Υ(p, b) +
∑
p′,q

X(a, p′)δ(p′, q)Υ(q, b) = δ(a, b)

⇒ AA−١ = ١



نمود: تقسیم دسته سه به را روابط توان می -۵

(الف)

f(r١ − r٢, t١ − t٢) =
∫ ∫

u(r١ − r٣, t١ − t٣) v(r٣ − r٢, t٣ − t٢) dr٣dt٣

f(r١ − r٢, ω) =
∫
d(t١ − t٢)e

iω(t١−t٢)f(r١ − r٢, t١ − t٢)

=
∫
d(t١ − t٢)e

iω(t١−t٢)
∫ ∫

u(r١ − r٣, t١ − t٣) v(r٣ − r٢, t٣ − t٢) dr٣dt٣

=
∫
dr٣

∫
eiω(t١−t٣)u(r١ − r٣, t١ − t٣) d(t١ − t٣)×

×
∫
eiω(t٣−t٢)v(r٣ − r٢, t٣ − t٢) d(t٢ − t٣)

=
∫
dr٣ u(r١ − r٣, ω) v(r٣ − r٢, ω)

f(q, ω) =
∫

d(r١ − r٢) e
−iq.(r١−r٢)

∫
u(r١ − r٣, ω) v(r٣ − r٢, ω) dr٣

=
∫

d(r١ − r٣) e
−iq.(r١−r٣) u(r١ − r٣, ω)

∫
e−iq.(r٣−r٢) v(r٣ − r٢, ω) d(r٣ − r٢)

= u(q, ω) v(q, ω)

(ب)

f(r١ − r٢, t١ − t٢) =
∫ ∫ ∫ ∫

u(r١ − r٣, t١ − t٣) v(r٣ − r۴, t٣ − t۴)×

×w(r۴ − r٢, t۴ − t٢) dr٣dt٣ dr۴dt۴

f(r١ − r٢, ω) =
∫ ∫

u(r١ − r٣, ω) v(r٣ − r۴, ω) w(r۴ − r٢, ω) dr٣ dr۴

f(q, ω) = u(q, ω) v(q, ω) w(q, ω)

(ج)

f(r١ − r٢, t١ − t٢) =
∫ ∫ ∫ ∫

dr٣dt٣ dr۴dt۴ u(r١ − r٣, t١ − t٣)×

×v(r٣ − r٢, r۴ − r٢, t٣ − t٢, t۴ − t٢) w(r١ − r۴, t١ − t۴)



f(r١ − r٢, ω) =
∫ ∫ ∫ ∫ ∫

d(t١ − t٢)e
iω(t١−t٢)u(r١ − r٣, t١ − t٣)×

×v(r٣ − r٢, r۴ − r٢, t٣ − t٢, t۴ − t٢)×
×w(r۴ − r١, t۴ − t١) dr٣dt٣ dr۴dt۴

f(r١ − r٢, ω) =
∫
dr٣

∫
dr۴

∫ ∫ ∫
eiω(t١−t٣)eiω(t٣−t٢)u(r١ − r٣, t١ − t٣)×

×v(r٣ − r٢, r۴ − r٢, t٣ − t٢, t۴ − t٢)×
×w(r۴ − r١, t۴ − t١) dr٣dt٣ dr۴dt۴

F(t١ − t٢) =
∫ ∫

u(t١, t٣) v(t٣, t۴, t٢) w(t۴, t١)dt٣ dt۴

F(ω) =
∫

eiω(t١−t٢)F(t١ − t٢) d(t١ − t٢)

F(ω) =
∫ ∫ ∫

eiω(t١−t٣)eiω(t٣−t٢)u(t١, t٣)v(t٣, t۴, t٢)×

×w(t۴, t١) d(t١ − t٢) dt٣ dt۴

F(ω) =
∫ ∫ ∫

eiω(t١−t٣)eiω(t٣−t٢)u(t١, t٣) v(t٣, t۴, t٢)×

×
{ ١
٢π

∫
w(ω′)e−iω′(t١−t۴)dω′

}
d(t١ − t٢) dt٣ dt۴

F(ω) =
١
٢π

∫
dω′w(ω′)

∫ ∫ ∫
ei(ω−ω′)(t١−t٣)ei(ω−ω′)(t٣−t٢)u(t١ − t٣)×

×v(t٣ − t٢, t۴ − t٢) e
iω′(t۴−t٢) d(t١ − t٣) d(t٣ − t٢) d(t۴ − t٢)

F(ω) =
١
٢π

∫
dω′w(ω′)

∫
d(t١ − t٣) e

i(ω−ω′)(t١−t٣)u(t١ − t٣)
∫

d(t۴ − t٢)×

×eiω
′(t۴−t٢)

{ ∫
d(t٣ − t٢) e

i(ω−ω′)(t٣−t٢)v(t٣ − t٢, t۴ − t٢)
}

F(ω) =
١
٢π

∫
dω′w(ω′) u(ω − ω′)

∫
d(t۴ − t٢) e

iω′(t۴−t٢) v(ω − ω′, t۴ − t٢)

F(ω) =
١
٢π

∫
dω′w(ω′) u(ω − ω′) v(ω − ω′, ω′)

بنابراین:

f(q, ω) =
( ١
٢π

)۴ ∫ ∫
u(q − k, ω − ω′) v(q − k, ω − ω′;k, ω′) w(k, ω′) dkdω′


